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=. (6%) Theoretically, explain why total alkalinity tends to decrease as

temperature of water has been increased to the boiling point.

Write at least five stoichiometric chemical equations about the reactions
between chlorine and impurities (such as ammomia, other reducing
materials) in water,

Theoretically, how the electrochemical reaction occurs in a corrosive
cast-iron pipe in the water distribution systemn?

To prepare 10 M HCOy'-CO,* buffer with a pH value of 10, calculate
how many grams of NaHCQO; and Na;CO; have to be dissolved into ]
liter of deionized water. (Given: HCO; — CO" + H » pKaz = 10.3;
Atomic weight Na=23,C=12,0=16,H=1)

Two mole of an ideal gas at 50°C and 1 atm pressure is mixed
adiabatically (i.e., no heat loss) with one mole of a different gas at 80°C
and 1 atm pressure to yield a mixture whose pressure is also 1 atm. If C;
for each gas 1s 2.5 R cal/mol-deg, calculate entropy change (AS) for the
Process,




